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Question Number : 1 Question Id : 583224571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The task of performing arithmetic and logical operations over data is called:
Options:
| = Storing

> % Encoding

5 » Decoding

4  Processing

Question Number : 1 Question Id : 583224571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 583224572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The data stored in gets erased when the computer is switched off.

Options:
1 v RAM

> % ROM
= # Hard Disk
4 % Flash memory

Question Number : 2 Question Id : 583224572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
S FOYET &¢ & S &, A ¥ TIET 2o B Fr B

Options:

., v RAM
. « ROM

3. E‘I‘é%l‘-m"
g ﬁ%rm



Question Number : 3 Question Id : 583224573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements is false?
Options:
, » CPU s called the brain of the computer.

- % The ALU carries out logic processing.

= « Both RAM and ROM are volatile in nature.

, % Themain memory is not an integral part of CPU.

Question Number : 3 Question Id : 583224573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 583224574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Desktop computers are also known as:

Options:
1 Personal computers

- % Super computers

z % Mainframes

4, = Public computers

Question Number : 4 Question Id : 583224574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 583224575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the most expensive and is massive in size?

Options:
L % Microcomputer

-  Supercomputer
5 % Minicomputer

4 % Mainframe computer

Question Number : 5 Question Id : 583224575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 583224576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Hardware devices used to enter data and instructions into a computer for storage or processing are called:
Options:

| « Input devices

- % Output devices

- % Memory devices

4 % Microcontrollers

Question Number : 6 Question Id : 583224576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 583224577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

State whether True or False?
I Mouse is a hand-operated pointing device.
II)  Optical mouse uses laser for detecting its movements.
IIT) The communication between mput devices and CPU is bidirectional.

Options:
i« IFTrue, II-True, I1I-False
5 % I-False, II-True, III-False
5 u I-True, II-False. ITI-False

4 % I-True. II-True, III-True

Question Number : 7 Question Id : 583224577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 8 Question Id : 583224578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

Set-1 Set-2
I) VDU A) Rewritable
IT) Scanner B) Output device
IT) CD-R. C) Input device
IV) CD-RW D) Recordable

Options:



. % IFB.I-C.III-A. IV-D
5 B, II-C, III-D, IV-A
- % I-C.II-B.III-D, IV-A
4 % IFA II-C.III-D, IV-B

Question Number : 8 Question Id : 583224578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % B, II-C, lIl-A, IV-D
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- % I-C, II-B, 1D, IV-A
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Question Number : 9 Question Id : 583224579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Second generation programming languagesuse _ in place of binary digits.
Options:

, % Opecodes

> « Mnemonics

- % Symbols

4 % Graphics

Question Number : 9 Question Id : 583224579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 10 Question Id : 583224580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a utility software?

Options:

1 ® Windows 2007
5 « Norton Antivirus
=z % MS-Word

4 % MS-Access

Question Number : 10 Question Id : 583224580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 # Windows 2007
5  dAled TIERRH
=z % MS-Word

4 % MS-Access

Question Number : 11 Question Id : 583224581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to display information in the form of a slide show?

Options:
1 « Presentation software
> % Multimedia software

- » Electronic spreadsheet

4 % Word processing software

Question Number : 11 Question Id : 583224581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 12 Question Id : 583224582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an open-source software?

Options:
1 % Adobe Acrobat Reader

> % Microsoft Internet Explorer

=z % Windows XP

4 « Linux

Question Number : 12 Question Id : 583224582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 583224583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements is True?
Options:
1 Machine language does not require any translator

- # Low-level languages are machine independent

- » High-level languages are machine dependent

4 % Assembly language does not require any translator

Question Number : 13 Question Id : 583224583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 583224584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is equivalent to 32 Gigabyte?

Options:
| ® e Byte

> % 2% Kilobyte

~+13

5 2~ Megabyte

4 % 2°° Bits

Question Number : 14 Question Id : 583224584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 15 Question Id : 583224585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Restarting a computer system without the need to interrupt the power is called:

Options:
1 # Hard Boot
> « Soft Boot

- = Data backup

4 % System restore

Question Number : 15 Question Id : 583224585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 583224586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to computer system. BIOS stands for:

Options:
L % Binary Input Output System

- % Basic Input Output Summarization
- % Binary Input Output Summarization

4 v Basic Input Output System

Question Number : 16 Question Id : 583224586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 583224587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process performed by the BIOS imunediately after the PC is switched on is called:

Options:
, w Screening
> « POST

- # Swapping

4 % Formatting

Question Number : 17 Question Id : 583224587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 18 Question Id : 583224588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following can be used to access files or folders without actually clicking on them?

Options:
1 %= Pixel
> « Shortcut

5 % Bitmap

4 % Thumbnail

Question Number : 18 Question Id : 583224588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 583224589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Executing “Regedit” command through “search programs or files™” or “run” option launches:

Options:
,  Registry Editor
5 % System Restore

- % System Backup

4 % Command Window

Question Number : 19 Question Id : 583224589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 583224590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Changing default installation directory in Windows systems requires change in:
Options:
| Registry

> % MSConfig

z % Kemel
4 % BIOS

Question Number : 20 Question Id : 583224590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 21 Question Id : 583224591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A program or set of programs that disrupts the normal functioning of a computer is known as:

Options:

1 #% Anfivirus

> % System Tool
5 o VIS

4 % Operating System

Question Number : 21 Question Id : 583224591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 583224592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

McAfee is an example of:
Options:

1 #% Virus

» % [Irojan Horse

- % Spyware

4 « Antivirus

Question Number : 22 Question Id : 583224592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 23 Question Id : 583224593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is True?

Options:
, « Apassword is generally case-sensitive

> % A password cannot start with a numeric digit
- % A password cannot have more than six characters

4 % A password is forever and it cannot be changed

Question Number : 23 Question Id : 583224593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o # 9 #iF a a7 @ &2

Options:

v TF TTHES ’H G W Fg-dfafed g gl
U THAS I WIS Ueh HEACHT 376 H Al I o1 Hevel gl

> R



. » UF GTHAS H TF ¥ AHOF IOV3E A & Hehd gl
, % UF UIHEE WeT ¥ AT B AN FW IS A ST FHRAT g

Question Number : 24 Question Id : 583224594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is considered to be the first computer virus for MS-DOS?

Options:
1 % Norton

> « Brain
- # ILOVEYOU

4 % Codered

Question Number : 24 Question Id : 583224594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 583224595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following provides an option to uninstall a software from a computer?

Options:
, w Desktop

Firewall

®

2
5 » windows Explorer

4 « Control Panel

Question Number : 25 Question Id : 583224595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 583224596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

State whether True or False?
I) A software cannot be uninstalled immediately after its installation on a computer.
II) A computer may be affected by some viruses even though an antivirus is installed and active.

Options:
| % I-False, II-False

> % I-True, II-False
z # IFTrue. II-True

4  I-False, II-True

Question Number : 26 Question Id : 583224596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 583224597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to file management, FAT stands for:

Options:
1 « File Allocation Table

> % File Addition Table
= % File Allocation Task
4 % File Addition Task

Question Number : 27 Question Id : 583224597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 28 Question Id : 583224598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the most simplistic of the file systems supported by Windows NT?

Options:
1 « FAT

5> % NTFS
- ® HPFS
4 % Both NTFS and HPFS

Question Number : 28 Question Id : 583224598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, v FAT
> = NTFS
- » HPFS

, » NTFS 3R HPFS g&r

Question Number : 29 Question Id : 583224599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A(n) file composed of one or more computer files along with their metadata.

Options:
1 % Portable

> « Archive
= % Document

4 » Bitmap

Question Number : 29 Question Id : 583224599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 583224600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following allows you to explore and manage the contents of your computer drives?
Options:

1« My Computer

> % My Documents

5 # Program Files

4 % Desktop

Question Number : 30 Question Id : 583224600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 583224601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to MS-DOS operating system. which of the following files contains the DOS kernel?

Options:
1 ® I0.SYS

> « MSDOS.SYS
3 # COMMAND.COM
4 % CONFIG.SYS

Question Number : 31 Question Id : 583224601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

% 10.8YS
. « MSDOS.SYS
- » COMMAND.COM
. = CONFIG.SYS

Question Number : 32 Question Id : 583224602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

State whether True or False?
I) InFAT file system. the name of a file or directory cannot contain any spaces.
IT) In FAT file system. CON and AUX are reserved names and they cannot be used as a file or directory name.

Options:

, = I-True, II-False

> % I-False, II-False

5 % I-False, II-True

4 « IFTrue. II-True

Question Number : 32 Question Id : 583224602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 33 Question Id : 583224603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Which of the following “change case™ options converts all letters into lower-case?

Options:
, » Toggle case

Sentence case

i

2.
5 % Upper case

4 « Lower case



Question Number : 33 Question Id : 583224603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 583224604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following can be used to enter texts in any part of a Word document?
Options:

1 « Text Box

> % Symbol
- % Picture

4 % Equation

Question Number : 34 Question Id : 583224604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 583224605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following menu items can be used to insert a “Text Box™ into a Word document?

Options:

1 % File

S Edit

= « Insert

4 % Format



Question Number : 35 Question Id : 583224605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 583224606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Word documents, the zigzag red underlines indicate possible:

Options:
1 # Grammatical error
-  Spelling error

5 » lmproper capitalization

, » lmproper indentation

Question Number : 36 Question Id : 583224606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T2 siFgEe H, e o HseeA ¥ g & Toha Aear g
Options:

SATRIOT JiE

1 %

, o Tae 3fE

. T SR
T Hﬂaﬁ(_-rirr Tt

Question Number : 37 Question Id : 583224607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following makes the texts slant slightly to the right?

Options:

, % Strikethrough
> o Italic

=z % Bold



4 % Underline

Question Number : 37 Question Id : 583224607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Taffaa # 9 #i9 a@r o F g 3 o= o e g9 &ar 22

Options:

Question Number : 38 Question Id : 583224608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

State whether True or False?
I) “Point” is the default unit of font-size measure in MS-Word.
II) A word document can have more than one pages. but cannot have more than one section.

Options:
1 % I-True. II-True

» % I-False, II-False
- % [I-False, II-True

4 « I-True, II-False

Question Number : 38 Question Id : 583224608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
el IT I FaTe:

) MS-Word & ®i=e-HTHT & AT & Rwee =@ ‘g §
) fFET 35 Siagie H T § HOF I3 @ Tahd g, oliehd U ¥ HTUF W @1 & Tehd|
Options:
1 ® ['Qqﬁr, “'-\qﬁ
> u |-3Terd, ||-3TeTd
5 » |-°Ted, 1B=r3)
s l-=ET, |-

Question Number : 39 Question Id : 583224609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following was the leading DOS-based spreadsheet?

Options:



1 & Lotus 1-2-3
> % MS-Excel

= % VisiCalc

4 % MS-Access

Question Number : 39 Question Id : 583224609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ffofee & @ Fiaar v\ w sw-ar2 wsefiT o
Options:

1 « Lotus 1-2-3

- % MS-Excel

- = VisiCalc

4 % MS-Access

Question Number : 40 Question Id : 583224610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The default horizontal alignment of texts in Excel worksheets is:

Options:
1 « Left

> u Right
=z % Centre

4 u Justify

Question Number : 40 Question Id : 583224610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Excel %l & & F1 Bwee aillEeed yaes-ac (&= F@m) gl

Options:

| v T (ATR)

, « & (75T
Sﬁm
, w TEIEE

Question Number : 41 Question Id : 583224611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Each Excel formula must start with character.

Options:
1 ® &



®
B

Question Number : 41 Question Id : 583224611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Sedeh Excel HHaT JUT (character) & 9% AT AMRTI

Options:
1 B =

2%-3#
&

o .

4. ¢

Question Number : 42 Question Id : 583224612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The value of the Excel expression “=27/9/3" is:

Options:
1.¢ 1
> % 3
= % 0
4 % 9

Question Number : 42 Question Id : 583224612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Excel qﬁ?{t\ﬂT ‘= 27/9/3" FT AT (value) %I
Options:

1.+ 1

> # 3

z % 6

4 % B

Question Number : 43 Question Id : 583224613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Excel. all error values begin with character.

Options:
1%
o R &

i



4% @

Question Number : 43 Question Id : 583224613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS-Excel # @sff T Sogd JUT (character) & 9% 21 &
Options:
B E:
> # &
3¢ #

4.&5@

Question Number : 44 Question Id : 583224614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The display value of the cell containing the following Excel expression is:
= WM O sy

Options:

1. ¢ XY

o B X-Y
2 % X&Y
4 % XTY

Question Number : 44 Question Id : 583224614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

sArer &3 7T Excel WIFEET arel el & B dog 47 gHEm?
-— “x“ & ‘-'Y”

Options:

1« XY

- % XY
= X&Y
g LAY

Question Number : 45 Question Id : 583224615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is false?

Options:
1 # Excel formula is not case-sensitive.

- % Excel worksheet can be renamed.

= « First row and first column of an Excel worksheet cannot be deleted.



, = Diagonal cells of an Excel worksheet cannot be merged.

Question Number : 45 Question Id : 583224615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

oatafeT & © FiF 91 37 Tog &7

Options:

, & Excel Pl FH-HTAET & 2 gl
, » Excel FFefiT F Raw fFar o wFar g

=

T Excel e Fr ggalr 9FT (row) T 98 T (column) Fr e 7ET &Far o1 g=ar &
, « % Excel TFfT & S@Niel o & AT (merged) & 3T ST Thelr B

Question Number : 46 Question Id : 583224616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

State whether True or False?
I) Excel displays the #REF! error when a formula refers to a cell that is not valid.
IT) Excel displays #DIV/0! error when a formula tries to divide a number by an empty cell.

Options:
 ® I-True, II-False

5 % I-False. II-False
=z  I-True. II-True

4 % I-False II-True

Question Number : 46 Question Id : 583224616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tar I AT TAT

) == T e ¥ FEThT weEr v # g ¥ oW vedw 4REF af w=fie aw

l)=e F% weE g &9 23 vs TEd F fFafEa =1 = 90w S B 89 vEEe iV
Iz w=fila == &)

Options:

. w |-\, AT
> w |-9TeAd, ||-3TeTd
5 o -EE, 1T

L, w |FTed, 1I-Egr

Question Number : 47 Question Id : 583224617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



With respect to the Internet. RSS stands for:

Options:

, w Rich Site Syndrome

5 o Rich Site Summary
5 # Reserved Site Summary

, = Reserved Site Syndrome

Question Number : 47 Question Id : 583224617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SaleiC & HeY H RSS &7 39 gl

Options:

|« T mrEe fEEs
, v I WS AN
5 » XS Wee Wl
4 » RS wRE g

Question Number : 48 Question Id : 583224618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is smallest in size (i.e.. area coverage)?

Options:
1 ® LAN

MAN
WAN
« PAN

®

u

2.
>,
4.

Question Number : 48 Question Id : 583224618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

F=fofea 7 9 Fi9 O WX J g9 ok § (397F, 87 Fai F H{ER 71)?
Options:

, % LAN
, % MAN
- = WAN
. v PAN

Question Number : 49 Question Id : 583224619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is a Web browser?
Options:
; » Google

> « Mozilla Firefox
5 » DBing

4 % Yahoo!

Question Number : 49 Question Id : 583224619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

=fRfle 7 9 7 o o= 57 s 2
Options:

1 *® o,

. » FITAT FREFT
3_&6%1?1-

4 % IFIE!

Question Number : 50 Question Id : 583224620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a standard network topology?
Options:

1 « Cube

o B Rlllg

= % DBus
4 % Sfar

Question Number : 50 Question Id : 583224620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tafaa # 9 #i9 a1 v &e=2 Jca+ uide J8r 87

Options:

1.»**@3-
zﬁﬁ?.r
S_QW
4 # TN

-

Question Number : 51 Question Id : 583224621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Match the following:

LIST-1 LIST-2

I) Web 2.0 A) Protocol

IT) Chrome B) Web browser

III) HTTP C) Social networking sites
Options:

; % IFA, II-C, III-B
- % B, II-C, III-A
z ¢ IFC II-B. III-A
4 % IFC II-A,III-B

Question Number : 51 Question Id : 583224621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TAaoEa &1 Jea =T

-1 -2

) 3 2.0 A) ¥t

) s B) a9 F3=K

) T=rdrdrdy C) |rerer AreafdeT msey
Options:

. % -A, II-C, lIl-B
, % 1B, II-C, llI-A
2 v I-C, II-B, llI-A
. % I-C, II-A, 1II-B

Question Number : 52 Question Id : 583224622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

State whether True or False?
I) Every web browser has an address bar where we type the URL.
IT) The search query “India OR China™ will retrieve only those web pages containing both India and China.

Options:
| % I-False, II-True

o  I-True, II-False
2 ® I-True. II-True

4 u I-False, II-False

Question Number : 52 Question Id : 583224622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



TET T IS T4
) T 3T FESR H U W g & 7 &7 URL TT e E
) &= = ‘o o A F Fa T 9T Goror owd AR HR AT I A

Options:
| w |-, |I-EE

5 o -, |-
- w |-, 1T

4 u |-3Terd, |l-3TeTd

READING COMPREEHERNSION
Section Id: 58322468
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 58322468
Question Shuffling Allowed : Yes

Question Id : 583224623 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (53t057)
Juestion Label - Comprehension



Read the following passage and answer the questions given
after it.

Despite the fact that too much fat can be harmful. a moderate
fat intake is actually essential for the maintenance of good
health. Some of the symptoms of fat deficiency include flaking
skin. emaciation. reduced functioning of the immune system
and fertility problems. Recent studies have linked fat-free diets
to increased stress and aggression. In fact, those who try to
eliminate fat completely from their food intake may be at risk
of eating disorders. A small amount of fat in a meal will
produce a feeling of satiety which lasts much longer than the
sensation of fullness produced by protein or carbohydrates. At
least two spoons of fat per day is needed for the digestive
system to absorb vitamins A. D. E and K. which are fat soluble.
These vitamins are essential for healthy hair. skin. teeth and
eyes. Without the ability to absorb these vitamins, children run
the risk of developmental and neurological disorders. Adults
need these vitamins to manufacture fertility hormones.

Some types of fats actually reduce harmful cholesterol levels.
Polysaturated fats such as corn. soybean and sesame oil and
Monosaturated fats like chicken fat and olive oil seem to lower
blood cholesterol. while saturated fats-those found in red meat.
dairy products and tropical oils seem to raise the level of the
kind of cholesterol that accumulates like plaque on arterial
walls. Paying attention to the type of fat consumed is just as
important as reducing total fat intake.

Sub questions

Question Number : 53 Question Id : 583224624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Flaking of skin. general weakness and
fertility problems are the result of
Options:

, w excess of proteins in food

> % lack of vegetables and fiuits in diet

5 w Overeating

4  fatdeficiency

Question Number : 54 Question Id : 583224625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Recent research has shown that one of the
causes of stress and aggressive behaviour is:



Options:
, w consumption of too much of fat

> o afat free diet
- % excess of protein in food

4 » deficiency of protein

Question Number : 55 Question Id : 583224626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To maintain good health one must:
Options:

1 % take fat free diet

> % take diet rich in fats

-  Include a moderate quantity of fats in food

4 % take only carbohydrates

Question Number : 56 Question Id : 583224627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Vitamins A. D. E. and K can be absorbed only

Options:
1 « if our food contains fats

- % Wwith the help of carbohydrates
- % if we undertake adequate exercise

4 % ifwe eat at regular intervals

Question Number : 57 Question Id : 583224628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The main focus of the passage is on:
Options:

1 % the need to eat a balanced diet

> of the importance of fat in our diet

5 % managing the level of cholesterol

4 % the place of vitamins in our diet

Question Id : 583224623 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 583224624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o= & GEYA, AT FHART AT

g9 GHET T IROTH &
Options:

, » HER H Weadl AT well @ Har
3 % AR
4 v THT & FAT

Question Number : 54 Question Id : 583224625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g & & ot & 2o & &6 ga9 3R 3eAs 098] #1 TF FROT:
Options:

|« & AT F FAT FT 3THET FET 2
» » AT T IER FT §FF FE £
AT H 9T Fr dfeFar g

S @ FAr P

®

®

=5,

4

4.

Question Number : 55 Question Id : 583224626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
H=OT TR 947 @A & ™7 UF =ATeg T T FIaT Ig?

Options:
, » T T 3R o

, x T W THE R o
- v A # TTT Fr AT AT MAT FL
, % $ad FEERESE o

Question Number : 56 Question Id : 583224627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

faf@a A, D, E 3t K &I &9 a9 =9ifag &Far s gar &
Options:

| 9 BH UG A H FET AT &




, « 9 EH FEIESCH I A o

{ 4
. x 9 BH A SUTATH

. » 79 gA AT 3aue W @ @w

Question Number : 57 Question Id : 583224628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TSI F AT FEEE HH T &2

Options:

| TGO HER F AT FIA F ATRTFA T

. v BAN 3ER H T & Aged W

. x PGS & TR & J9U7 H TN
, % BAR IER A F@EEr & Ageed W

CUANTITATIVE APTITULE

Section Id : 58322469

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 58322469
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 583224629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The nunber obtained by interchanging the digits of a two-digit mumber is less than the original member by 18, and the
sim of the digirs 15 6. What s the original two-dizit munber?

Options:
1 % 46
> % 24
o o 42
4 ® 04

Question Number : 58 Question Id : 583224629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

R 2r A= ST BEE F O # H9H F 9204 9 9 T, 59 TE H 18 HF FH F A6 8
ST ST ST =T AT 6 ¥ A 2 A B wEw R

Options:

1 ® 48

o ® 24

3« 42

4 ® 54

Question Number : 59 Question Id : 583224630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The salary of a husband is 50% more than his wife. By what percentage is the salary of wife less than her husband?
Options:
1 ® 45

-~ #% 37.5%
z ® 50

4 « 33.33%

Question Number : 59 Question Id : 583224630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ufer & 31, T BT AT F 50% FEF g1 uer @ 3, 9fq F geer F e gfoea w7 22
Options:

, % 45%

> % 37.5%

2 % 50%

4« 33.33%

Question Number : 60 Question Id : 583224631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Twenty men can do a particular work in 30 days. whereas 30 women can do the same work in 20 days. In how mamy
davs will 20 men and 30 women together complete the work?

Options:
; = 20.5 days

> w 21days
5 # 21.5days

4  22.5 days

Question Number : 60 Question Id : 583224631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



5\ o9 BT F &1 30 fER F U # wFa €, Fae 6 & # 30 AFew 90 B # #1 Fwr £
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Options:

% 205 f&=
o x 21 &=t

. = 215 e
L v 225 &

Question Number : 61 Question Id : 583224632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A grocer decides to mix the leftover stock of two types of pulses costing Bs. 120kg and Bs, 145%kg. The mixture costs
Bs. 135 to the grocer. In what ratio should he mix the two pulsas?

Options:
1 % 1:

o

[ "T CO T E

:
=8 B
4

£

R

Question Number : 61 Question Id : 583224632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

v T ST A w120/ HIT F 145/FRAT. Heg I 21 TR H e o9 g0 w=iE S e
& faty ) B g & e fr s £ 135 920 3% 2T g #r B Fepara H A
sfee?

Options:

T LA
oo 2 23
2% 3:4
4% 4:5

Question Number : 62 Question Id : 583224633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The run rate of Indian cricket team in the first 20 overs of an ODI (One Day International) match is 4. The Indian team
1z chasing a score of 300 runs. What should be its nun rate in the remaining 30 overs in order to win the match?

Options:
1 ® 6.91

> % 6.98
3 % 7.13
i 733

Question Number : 62 Question Id : 583224633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

AT e & & B oD (v REEw saesd # F 9ger 20 HE f 1A I 4§ sEm &R
F 300 17 o E| #w wr S & e o == 30 et # o e Rt endr anfeee

Options:

, % 6.91
, % 6.98
- # "TH43
4t 133

Question Number : 63 Question Id : 583224634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The area of an equilateral triangle is 256V 3 cm?. What is the perimeter of the triangle?
Options:
1.+ 96 cm

> % 84 cm
= % 90v3 cm
4 % 7243 cm

Question Number : 63 Question Id : 583224634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

forelr TaaTg Tl 7 &1Ther 256V3 em”® 1 Flsr Fr aRfY et g

Options:

- % 84 WAL

5 % 90V3 WA

4 % 7293 A

GEMEREAL MEMTAL ABILITY AND REEASONING

Section Id : 58322470
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1



Sub-Section Id: 58322470
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 583224635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

It each of the tollowing question. four werds have been given out of which three are alike in some manner, while the
fourth ong 19 different. Choose ot the odd one

Options:
1 « Mathematics

> u Algebra

5 % lrigonometry

4 % Geometry

Question Number : 64 Question Id : 583224635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T=ofEa e &7, 71X g R ov &, SFd @ &7 & atg ¥ % 3% &, (5 =t s &
T e AT Fi|
Options:

| v IO

o % SISO
5 % TEERIOITAT
4 % SATATT

Question Number : 65 Question Id : 583224636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 1 g cerdain coide, REFRIGERATOR 15 coded as ROTAREGIRFER, which word would be coded as WOTTTNUMMBASD

Options:
; ® ANMOMIUTNI

5 % AMNTOMUIIN
2 « AMMUNITION
4 % NMMUNITIOA

Question Number : 65 Question Id : 583224636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fordt Af9as =g ¥9T 7 REFRIGERATOR = &F ROTAREGIRFER T £ o 5w oreg &7 &2
NOITINUMMA grm?
Options:

. » ANMOMIUTNI
> % AMNTOMUIIN
= v AMMUNITION



. # NMMUNITIOA

Question Number : 66 Question Id : 583224637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A mian walks 30 metres towards south, Then, huming o bis right, be walks 30 metres, Then, homing to his lefl, he walks
20 metres, Again. he tums to his left and wallcs 30 metres, How tar is he from his ingtial position?

Options:
1 % 20 metres

- % 30 metres
= % 00 metres
4 + 50 metres

Question Number : 66 Question Id : 583224637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

veh FafEa 30 HET Zf@r #r AT Twar {1 B 9 3O v ase, 30 Hew a9ar §) B 3 e A
HERT, 20 FeT 99 #) 9 O F 59 a0 #@Er € v 30 Her aeer ¥ a9 9F s e fg @
fereeT 3T 27

Options:

| % 20 AT
> % 30 A
- » 60 HIIX
. » 50 T

Question Number : 67 Question Id : 583224638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

B is the lmsband of P. Q) is the only grandson of E. who is wife of D and mother-in-law of P. How Is B related to D?
Options:

; % Nephew

> % Cousin

=z % Son-in-law

4 & 5Son

Question Number : 67 Question Id : 583224638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 68 Question Id : 583224639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In an imaginary language. the digits 0, 1. 2, 3. 4. 5. 6, 7. 8 and 9 are substituted by a.b.c.d, e. . 2. h iandj.
If 10 is written as ba. then identify the value of (cd + ef) * be.

Options:
| % 684

5 « 816
5 % 916
4 % 1564

Question Number : 68 Question Id : 583224639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U FeOE HWTE 0,1, 2, 3,4, 5 6, 7, EHTOFra b oo d e fg h idT| = garnfs
fora aram B

TfE 10 Fr ba B ST & &7 icd + ef) « be F7 A 719 FI

Options:

| % 684
. v 816
5 % 916
., % 1564

Question Number : 69 Question Id : 583224640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the missing number in the following figure.

13

Options:
1 % 10
> % 20
z o 39
4 % 45

Question Number : 69 Question Id : 583224640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
GEMERAL AWAREMNESS
Section Id : 58322471
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 58322471
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 583224641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who was awarded the Jnanpith award for 20167

Options:

. + Shankha Ghosh (Bengali)

-~ % Pratibha Ray (Odia)
- » Shrilal Shukla (Hindi)
4 » Amar Kant (Hindi)

Question Number : 70 Question Id : 583224641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 583224642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who among the following has won the Pantaloon’s Femina Miss India World. 2012 Award?
Options:
, w» Sandhya Agarwal

o o vanya Mishra

= % Rochelle Maria
4 % Prachi Mishra

Question Number : 71 Question Id : 583224642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ﬁwﬁﬁgﬁﬁw@mﬁmméﬁwaﬁ, 2012 e faus Shar ar?
Options:

1 ® HeqT ST

5 drear Ay

5 % Trer AT

4 % ST TP

Question Number : 72 Question Id : 583224643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

How many satellites were Imnched by the Tndian Space Research Organization (ISROY on 15 Felouary, 2017 to create a
workd record?

Options:

1 % 101

3 % 205
4 « 104

Question Number : 72 Question Id : 583224643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % 101

z % 205

4 v 104

Question Number : 73 Question Id : 583224644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which country will host the next FIFA Football World Cup in 2018?

Options:

1 % Brazil
-~ % Spain
3 « Russia

4 % Chile

Question Number : 73 Question Id : 583224644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HaTT BT Gealol fa9a &9, 2018 & ASETAT Sl AT & FEM?

Options:

Question Number : 74 Question Id : 583224645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

At the Oscar Awards ceremony in 2017, the Best Picture Award was given for the film:
Options:

1 ® LaLalLand

>  Moonlight

= % Arrival
4 # Lion

Question Number : 74 Question Id : 583224645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
| % o o oF
EGEIES

g & 3NILE
4 % olldel

Question Number : 75 Question Id : 583224646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is the author of the book ‘The Prince’?
Options:

1 % V.S. Sharma

> % Bemnard Shaw
z % Emile Zola

4 + Niccolo Machiavelli

Question Number : 75 Question Id : 583224646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T 9 95aF F oE@E Fi g7

Options:

, % O THE. o

5 % A AT

5 % UTHG e

4 v e AT

Actual
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Revisit allowed for view?: No
Revisit allowed for edit?: No
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English Tvping Test
Section Id : 58322472
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Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 58322472
Question Shuffling Allowed : No

Question Number : 76 Question Id : 583224647 Question Type: TYPING TEST Display Question Number : Yes

The role of men and women has been somewhat defined since the ancient times. Males hawe been given more
importance because of various factors such as building of civilizations, hunting, getting food as well as other
explorations over ages. On the other hand, the subtle contribution of wormen in fostering culture amongst
other things has not been appreciated enough. However, wormern have started to show that they are as capable
as men. Although, a large chunk of male population continues to be the breadwinner of the household, yet the
wornen do seem to be matching them steadily. The world order has undergone a trermendous transformation
over the last few decades. This changed order pose interesting questions, like what if women played a more
decisive role and begin to dorminate the entire world, The signs are already visible and it is the right tirme to
accept that wormen power is here to stay and is only likely to increase. The first Prime Ministers such as ndira
Gandhi of India and Margaret Thatcher of England hawve proven to be strong leaders. Wormen hawve also
demonstrated their mettle in intellectual, creative and scientific fields with superb elegance. Mot just this, they
hawve made a big difference to the world through outstanding examples of social service. Mother Teresa, Oprah
Winfrey, Coco Chanel, Marie Curie, Madonna, Indra MNoovyi, Angela Merkel and Aung Sang Suu Kyi have been
some of the most powerful women who have had a huge impact on the world through their chosen professions
or work. In simple words, wormen have risen from the shadows of men and carved out their own identity. The
world certainly stood up and noticed the change. Eesides the extrermely powerful wormen leaders, there are also
wiornen who are establishing their identity in the so-called male dominated world, This 15 cormmendalble, as
traditional societies only witnessed wornen lending a shoulder to men in their various pursuits, Their owrl
power or abilities always remained latent. From being a wife to being a mother or just managing the house
chores, wornen dermonstrate their ability to handle mualtiple tasks with complete ease. They are the ones, who
bring a certain level of compassion, love, beauty and virtue to the everyday life. A study by World Bank had
revealed that countries having higher nurnber of women in parliament had lower levels of corruption. 50, it
can be said that the female gender certainly possess the toughness to manage tasks in hand and also deal with
people. However, we cannot neglect the fact that managing the world entails a certain degree of cruelty that
wormen might not engage in. The necessity of cracking the whip on people may take a back seat as wornen are
knowr to be gentler.
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